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ẋ = f(t, x) + v(t) + u, x(t0) = x0, (1)

��� v : I → Rn� �
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xh(t) = x0 + p(t0, x0) +

t∫

t0

(
f
(
λ, xh(λ)

)
+ v(λ)

)
dλ +

∑
tk∈(t0,t)

p
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tk, x

h(tk)
)
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p(t, x) = B(t, x)σ(t, x), (2)
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ṙ = f(t, r) + v(t) + (BDσ)(t, r), r(t0) = x0 + p(t0, x0). (3)
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ẋ = f(t, x) + v(t) + B(t, x)u(t, x), (4)
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ui(t, x) = Hisgnσi(t, x), i = 1,m. (5)
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ṙ ∈ f(t, x) + v(t) + B(t, r)U(t, r), r(t0) = x0 + p(t0, x0). (6)
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|ũi(t, x)|σ(t,x)=0 < Hi, i = 1,m,
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BCDCEFGHCI J�K� LD MNOFPHCD CQ HEROSTM TSHUHDV ECUM� WD PXHT FGPHYSM HEROSTM TSHUHDV ECUM
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